

<u>Tablet Recommended Specifications for HAS Point-of-Care data entry:</u>

- Android Tablet (non iPad/iOS product)
- Wi-Fi capabilities
- 7" to 8" tablets are preferable; however bigger sizes also work
- Between 1.5 to 2 GB RAM preferred as a minimum for memory

Suggested Tablets:



Samsung Galaxy Tab A 7"; 8 GB Wifi Tablet (As of 6/22/2017, around \$142 on Amazon)



Samsung Galaxy Tab E Lite 7"; 8 GB Wifi Tablet (As of 6/22/2017, around \$99/tablet on Amazon)

- *SOI and Vecna Cares are continuing to test HAS's point of care data entry capability on non-Adroid devices such as Microsoft Surface Pros and iPads. At this time, we do not recommend non-Adroid devices since they may require additional setup and setting configurations.
- **SOI highly recommends protective cases for each tablet. Depending on the tablet you order, there are different size protective cases. We recommend using Amazon or another vendor to obtain these cases. They typically cost anywhere between \$7.99 \$11.99 each case.

Carrying Cases:

SOI suggests a case to store and transport the tablets. Hard shell suit cases with wheels can work well for moving tablets short distances. If you plan to ship the tablets and/or want a more rugged case, SOI suggests a Pelican Storm case (iM2950 or iM2975, both with foam).



<u>Tablet Price Breakdown/Program:</u>

	Description	Vendor	Unit Price	No. of Ur	Cost	
	Samsung Galaxy Tab E Lite 7"; 8 GB Wifi Tablet	Amazon	\$99.99	50	\$4,999.50	
	Amazon Shipping with Prime		N/A	N/A	N/A	
Cheaper	Appropriate case for Samsung Tab E	Amazon	\$9.99	50	\$499.50	
Tablet	Amazon Shipping		N/A	N/A	N/A	
Option	Pelican Case (more expenisve option)		\$281.31	2	\$562.62	
	Shipping Cost (approximiate)		\$85.00	N/A	\$85.00	
					\$6,146.62	TOTAL/Program

1	Description	Vendor	Unit Price			
	Samsung Galaxy Tab A 7"; 8 GB Wifi Tablet Amazon Shipping with Prime	Amazon	\$142.94	50	\$7,147.00	
Tablet	Appropriate case for Samsung Tab A	Amazon	N/A \$10.99	N/A 50	N/A \$549.50	
Option	Amazon Shipping		N/A	N/A	N/A	
	Pelican Case (more expenisve option)		\$281.31	2	\$562.62	
	Shipping Cost (approximiate)		\$85.00	N/A	\$85.00	
					\$8,344.12	TOTAL/Program

The number of tablets varies depending on how many stations are set up in each discipline. Below are suggested tablets per discipline for a typical SONA event (based on tablet numbers from SOPA, SOWI, SOTX, and 2017 WWG HA events). One option is to offer each Program a set number and allow them to use the tablets and supplement if needed. Another option is to allow Programs to determine their biggest event based on number of stations and allow them to order that number of tablets. Based on these numbers, to perform a HA event with all seven of the below disciplines would require about 92 tablets.

Fit Feet			
Station	Suggested Number of Tablets		
Check-in	2		
Sizing	2		
Exams	4		
Checkout	2		
Shoe Distribution	0		
Total number of tablets: 10			

FUNfitness		
Station	Suggested Number of Tablets	
Check-in	2	



Flexibility	3	
Strength	3	
Balance	2	
Aerobic	3	
Education	2	
Checkout	2	
Total number of tablets: 17		

Healthy Hearing			
Station	Suggested Number of Tablets		
Check-in	2		
Otoscopy	4		
Ear Wax	0		
Otoacoustic Emissions	4		
Typanometry	3		
Pure Tone Audioemtry and Threshold Testing	3		
Hearing aid fitting and repair/Swim plugs	0		
Checkout	2		
Total number of tablets: 18			

Health Promotion		
Station	Suggested Number of Tablets	
Check-in	2	
BMI	2	
BMD	2	
Healthy Habits	4	
Blood Pressure	2	
Checkout	2	
Total number of tablets: 14		

Opening Eyes		
Station	Suggested Number of Tablets	
Check-in	2	
DVA	3	
Cover test	2	
NVA	2	



Color and Stereo	2	
IOP	3	
Eye Health	2	
Intermediate checkout	2	
Refraction	2	
Checkout	2	
Total number of tablets: 22		

Special Smiles		
Station	Suggested Number of Tablets	
Check-in	2	
Oral Screenings	3	
Hygiene	0	
Mouth guards	2	
Checkout	0	
Total number of tablets: 7		

Strong Minds			
Station	Suggested Number of Tablets		
Check-in	2		
Stress and You, Strong Messaging, Strong Breathing, Strong	0		
Stretching, Strong Supporting			
Checkout	2		
Total number of tablets: 4			